[ Efficiency vs vertpos |
0.05

L R e l[ ------------
0.04F-+-eeesrivrenenennens e e

: +++&+#A-L+$L
1072 10 10?

—=— /data2/legianni/BDT-vs-DNN/real-BDT/CMSSW_13_0_0_pre4/src/runrem/DQM_TT__mkFit_

Efficiend —— pom_17_mkFit_

0.05 . . . . .

e e e
e e
ooastfl oot
0,08 - bt
0.025 R EETTTIII IR

\ ++w
0.015ft -+t gt E- 5o
0.0
T

(P!

....................

...............

0.05

0.04F---+--
0.035F -+
0.032—----5«--
0.025F-++-b-ffiivd
0.02F -+ Hfi-ly i
0.015F -+ {fi
0.012—----?*»--’ ARSI Q
= I....!....
HHH' ++*H++++++— +ﬂ --------




	Contents
	Page 1


